



St. Louis County, Minnesota

Date of Report: 12/14/2025 1:57:45 PM

General Details									
Parcel ID:	275-0019-00850								
		Legal Description D	etails						
Plat Name: BREVATOR									
Section	Town	ship Rango	e	Lot Block					
25	50	50 17 -							
Description:	NE 1/4 OF SW 1/	/4							
Taxpayer Details									
Taxpayer Name	JUNTUNEN DEA	N H							
and Address:	3766 HAUTALA F	RD							
	CLOQUET MN 5	5720							
		Owner Deteile							
A Manua	" INTUNENDEA	Owner Details							
Owner Name	JUNTUNEN DEA								
		Payable 2025 Tax Su	mmary						
2025 - Net Tax \$2,063.00									
	2025 - Specia	al Assessments		\$85.00					
2025 - Total Tax & Special Assessmer			ents \$2,148.00						
		Current Tax Due (as of 1							
Due May 15	5	Due October 1	5	Total Due					
2025 - 1st Half Tax	\$1,074.00	2025 - 2nd Half Tax	\$1,074.00	2025 - 1st Half Tax Due	\$0.00				
2025 - 1st Half Tax Paid	\$1,074.00	2025 - 2nd Half Tax Paid	\$1,074.00	2025 - 2nd Half Tax Due	\$0.00				
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	\$0.00 2025 - Total Due					
Parcel Details									

Property Address: 3766 HAUTALA RD, CLOQUET MN

School District: 94

Tax Increment District: -

Property/Homesteader: JUNTUNEN, DEAN H

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$51,200	\$113,400	\$164,600	\$0	\$0	-	
111	0 - Non Homestead	\$27,700	\$0	\$27,700	\$0	\$0	-	
	Total:	\$78,900	\$113,400	\$192,300	\$0	\$0	1606	





St. Louis County, Minnesota

Date of Report: 12/14/2025 1:57:45 PM

Land Details

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

			<u> </u>	etails (HOUSE	ions, please email Property	, <u>, , , , , , , , , , , , , , , , , , </u>		
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ²			Basement Finish	Style Code & Desc		
HOUSE	1950	1,152		1,152	U Quality / 0 Ft ²	RAM - RAMBL/RNC		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	24	48	1,152	BASEM	ENT		
CN	1	8	11	88	FOUNDA	TION		
DK	1	3	6	18	POST ON G	ROUND		
DK	1	7	8	56	POST ON G	ROUND		
DK	1	8	18	144	POST ON G	ROUND		
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC		
1.0 BATH	3 BEDROOM	ИS	-		0	CENTRAL, WOOD		
Improvement 2 Details (DG 28X29)								
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
GARAGE	1930	81	2	812	-	DETACHED		
Segment	Story	Width	Length	Area	Founda	Foundation		
BAS	1	28	29	812	POST ON G	POST ON GROUND		
Improvement 3 Details (ST 24X24)								
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
STORAGE BUILDING	1960	57	6	576	-	-		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	24	24	576	FLOATING	SSLAB		
		Improver	ment 4 De	tails (PB 24X3	36)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
POLE BUILDING	1970	86	4	864	-	-		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	24	36	864	POST ON G	ROUND		
Improvement 5 Details (PB 24X48+)								
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
POLE BUILDING	1970	1,3	12	1,312				
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	10	16	160	FLOATING	SLAB		
BAS		24				FLOATING SLAB		





St. Louis County, Minnesota

Date of Report: 12/14/2025 1:57:45 PM

					· ·		023 1.37. 4 31 N		
		Improver	nent 6 Details	(BN 22X90)					
Improvement Type	e Year Built	Main Flo	•			Code & Desc.			
BARN 1920		2,20	00	2,200	-		-		
_	Segment Story		Width Length Area		Found				
BAS	1	22	100	2,200	FLOATING SLAB				
		Improven	nent 7 Details	(6X8 SHED)					
Improvement Type	e Year Built	Main Flo	Main Floor Ft ² Gross Area Ft ² Basement Finish		Basement Finish	Style Code & Desc.			
STORAGE BUILDIN	IG 1940	48	3	48	-		-		
Segmei	nt Stor	y Width	Length	Area	Found				
BAS	1	6	8	48	POST ON	GROUND			
		Improvem	ent 8 Details (10X10 SHED)					
Improvement Typ	e Year Built	Main Flo	Main Floor Ft ² Gross Area Ft ²		Basement Finish Style Code		Code & Desc.		
STORAGE BUILDIN	IG 1920	10	100 100		-				
Segme	nt Stor	y Width	Length	Area	Found	undation			
BAS	1	10	10	100	POST ON	GROUND			
		Sales Reported	to the St. Lou	is County Aud	itor				
Sal	le Date		Purchase Price	•	CF	RV Number			
07	7/1993		\$89,000			91957			
05	5/1993		\$89,000				92557		
		A	ssessment His	story					
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
1 2 2	201	\$51,200	\$110,500	\$161,700	\$0	\$0	-		
2024 Payable 2025	111	\$27,700	\$0	\$27,700	\$0	\$0	-		
	Total	\$78,900	\$110,500	\$189,400	\$0	\$0	1,574.00		
	201	\$44,300	\$100,600	\$144,900	\$0	\$0	-		
2023 Payable 2024	111	\$23,200	\$0	\$23,200	\$0	\$0	-		
,	Total	\$67,500	\$100,600	\$168,100	\$0	\$0	1,439.00		
	201	\$36,400	\$90,500	\$126,900	\$0	\$0	-		
2022 Payable 2023	111	\$21,600	\$0	\$21,600	\$0	\$0	-		
2022 1 ayable 2023	Total	\$58,000	\$90,500	\$148,500	\$0	\$0	1,227.00		
	201	\$36,400	\$86,700	\$123,100	\$0	\$0	-		
2021 Payable 2022	111	\$21,600	\$0	\$21,600	\$0	\$0	-		
	Total	\$58,000	\$86,700	\$144,700	\$0	\$0	1,185.00		
		7	⊥ Fax Detail Hist	orv					
Tay Vee	Tov	Special	Total Tax & Special	_	Taxable Bu		tal Tayobia 841		
Tax Year	Tax \$1,891.00	Assessments	Assessments				otal Taxable MV		
2024	\$1,891.00	\$85.00 \$85.00	\$1,976.00 \$1,796.00	\$60,102 \$50,594	\$83,79 \$72,08		\$143,901 \$122,681		
2022	\$1,901.00	\$85.00	\$1,796.00	\$50,264	\$68,27		\$122,081		
LULL	ψ1,501.00	ψ00.00	ψ1,500.00	ψυυ,2υ4	ψ00,27	<u> </u>	ψ110,000		





St. Louis County, Minnesota

Date of Report: 12/14/2025 1:57:45 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.